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1. ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U Á‹πŸÊ •Ê⁄¥U÷ ∑§⁄UŸ ‚ ¬„‹ •Ê¬ ß‚ ¬ÈÁSÃ∑§Ê ∑§Ë ¡Ê°ø ∑§⁄U∑§
‚ÈÁŸÁ‡øÃ ∑§⁄U ‹¥ Á∑§ ß‚◊¥ ¬Í⁄U ¬Îc∆U (1-16) „Ò¥ ÃÕÊ ∑§Êß¸ ¬Îc∆U ÿÊ ©‚∑§Ê ÷Êª
∑§◊ ÿÊ ŒÈ’Ê⁄UÊ ÃÊ Ÿ„Ë¥ •Ê ªÿÊ „Ò–  ©ê◊ËŒflÊ⁄UÊ¥ ∑§Ê ÿ„ ÷Ë ¡Ê°ø ∑§⁄UŸË „Ò Á∑§
©Ÿ∑§Ê ∑§fl‹ ©‚ ¬ÊS≈U ∑§Ë „Ë ‚„Ë ¬⁄UËˇÊÊ-¬ÈÁSÃ∑§Ê Á◊‹Ë „Ò Á¡‚∑§ Á‹∞ ©ã„Ê¥Ÿ
•ÊflŒŸ Á∑§ÿÊ „Ò–  ÿÁŒ •Ê¬ ß‚ ¬ÈÁSÃ∑§Ê ◊¥ ∑§Êß¸ òÊÈÁ≈U ¬Ê∞¥, ÃÊ Ãà∑§Ê‹  ß‚∑§
’Œ‹ ŒÍ‚⁄UË ¬ÈÁSÃ∑§Ê ‹ ‹¥–

2. •Ê∞◊•Ê⁄U ©ûÊ⁄U-‡ÊË≈U ¬˝‡Ÿ ¬ÈÁSÃ∑§Ê ◊¥ „Ë ©¬‹éœ ⁄U„ªË–  ∑Î§¬ÿÊ ‚ÈÁŸÁ‡øÃ ∑§⁄¥U
Á∑§ •Ê∞◊•Ê⁄U ‡ÊË≈U ‚¥ÅÿÊ •ÊÒ⁄U ¬⁄UËˇÊáÊ ¬ÈÁSÃ∑§Ê ‚¥ÅÿÊ ‚◊ÊŸ „Ò¥–  •Ê∞◊•Ê⁄U
‡ÊË≈U ¬⁄U ¡ÊŸ∑§Ê⁄UË ÷⁄UŸ ‚ ¬„‹ •Ê∞◊•Ê⁄U ‡ÊË≈U ¬⁄U ¿U¬ ÁŸŒ¸‡ÊÊ¥ ∑§Ê äÿÊŸ ‚
¬…∏¥–  •Ê¬∑§Ê •Ê∞◊•Ê⁄U ©ûÊ⁄U-¬òÊ∑§ ¬⁄U ‚÷Ë Áflfl⁄UáÊÊ¥ ∑§Ê ‚„Ë …¥Uª ‚ ¬Í⁄UÊ •ÊÒ⁄U
∑§Ê«U ∑§⁄UŸÊ „ÊªÊ, ∞‚Ê Ÿ ∑§⁄UŸ ¬⁄U •Ê¬∑§Ë ©ûÊ⁄U ¬ÈÁSÃ∑§Ê ∑§Ê ◊ÍÀÿÊ¥∑§Ÿ Ÿ„Ë¥
Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò–  ¬˝‡ŸÊ¥ ∑§Ê ©ûÊ⁄U ŒŸÊ ‡ÊÈM§ ∑§⁄UŸ ‚ ¬„‹ •Ê¬∑§Ê •Ê∞◊•Ê⁄U
©ûÊ⁄U-¬òÊ∑§ ¬⁄U ÁŒÿ ª∞ ÁŸœÊ¸Á⁄UÃ SÕÊŸ ¬⁄U •¬Ÿ „SÃÊˇÊ⁄U ∑§⁄UŸ „Ê¥ª–  ßŸ
ÁŸŒ¸‡ÊÊ¥ ∑§Ê ¬ÍáÊ¸ M§¬ ‚ ¬Ê‹Ÿ Á∑§ÿÊ ¡ÊŸÊ øÊÁ„∞, ∞‚Ê Ÿ ∑§⁄UŸ ¬⁄U •Ê¬∑§Ë
•Ê∞◊•Ê⁄U ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ∑§Ê ◊ÍÀÿÊ¥∑§Ÿ Ÿ„Ë¥ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò–

3. •Ê∞◊•Ê⁄U ©ûÊ⁄U-‡ÊË≈U ÃËŸ ¬˝ÁÃÿÊ¥ ◊¥ „Ê¥ªË (◊Í‹ ÃÕÊ ∑§Ê’¸Ÿ ∑§Ë ŒÊ ¬˝ÁÃÁ‹Á¬ÿÊ°)–
¬⁄UËˇÊÊ ‚◊ÊÁåÃ ∑§ ’ÊŒ •Ê.∞◊˜.•Ê⁄.U ∑§Ë ◊Í‹ ‡ÊË≈U ÃÕÊ ∞∑§ ∑§Ê’¸Ÿ ¬˝ÁÃÁ‹Á¬
ÁŸ⁄UËˇÊ∑§ ∑§Ê ‚ÊÒ¥¬Ÿ ∑§ ¬‡øÊÃ˜ ©ê◊ËŒflÊ⁄U •¬Ÿ ‚ÊÕ ∞∑§ ∑§Ê’¸Ÿ ¬˝ÁÃÁ‹Á¬ ‹
¡Ê ‚∑§Ã/‚∑§ÃË „Ò¥–  ÿÁŒ ∑§Êß¸ ÷Ë ©ê◊ËŒflÊ⁄U ∞‚Ê ∑§⁄UŸ ◊¥ •‚»§‹ ⁄U„ÃÊ/
⁄U„ÃË „Ò ÃÊ ©‚∑§Ë ©ê◊ËŒflÊ⁄UË ⁄Ug ∑§⁄U ŒË ¡ÊÿªË–  ÿÁŒ ∑§Êß¸ ©ê◊ËŒflÊ⁄U
•¬ŸË ∑§Ê’¸Ÿ ¬˝ÁÃÁ‹Á¬ ◊¥ Á∑§‚Ë ÷Ë ¬˝∑§Ê⁄U ∑§Ê »§⁄U-’Œ‹ ∑§⁄U ©‚∑§Ê ŒÊflÊ
∑§⁄UÃÊ/∑§⁄UÃË „Ò ÃÊ ß‚ ÁSÕÁÃ ◊¥ ÷Ë ©‚∑§Ê/©‚∑§Ë ©ê◊ËŒflÊ⁄UË ⁄Ug ∑§Ë ¡ÊÿªË–

4. ß‚ ¬˝‡Ÿ-¬ÈÁSÃ∑§Ê ◊¥ 100 ’„ÈÁfl∑§À¬Ëÿ ¬˝‡Ÿ „Ò¥–  ¬˝àÿ∑§ ¬˝‡Ÿ ∑§ 4 Áfl∑§À¬ ÁŒ∞
ª∞ „Ò¥, (A), (B), (C) •ÊÒ⁄U (D)–  Á∑§‚Ë ÷Ë ÁSÕÁÃ ◊¥ ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ∑§fl‹ ∞∑§
Áfl∑§À¬ „Ë ‚„Ë ©ûÊ⁄U „Ò–  ÿÁŒ •Ê¬∑§Ê ∞∑§ ‚ •Áœ∑§ Áfl∑§À¬ ‚„Ë ‹ª¥ ÃÊ
‚’‚ •Áœ∑§ ©ÁøÃ ∞∑§ Áfl∑§À¬ ∑§Ê øÈŸÊfl ∑§⁄¥U •ÊÒ⁄U ©ûÊ⁄U ‡ÊË≈U ◊¥  ‚ê’¥ÁœÃ
¬˝‡Ÿ ∑§ ‚Ê◊Ÿ flÊ‹ ©¬ÿÈÄÃ ªÊ‹ ∑§Ê ∑§Ê‹Ê ∑§⁄¥U–

5. ¬˝àÿ∑§ ‚„Ë ©ûÊ⁄U ∑§ Á‹∞ ∞∑§ •¥∑§ ÁŒÿÊ ¡Ê∞ªÊ •ÊÒ⁄U ¬˝àÿ∑§ ª‹Ã ©ûÊ⁄U ∑§
Á‹∞ 0.25 •¥∑§ ∑§Ê≈U Á‹∞ ¡Ê∞¥ª–

6. ªÊ‹ ∑§Ê ∑§Ê‹Ê ∑§⁄UŸ ∑§ Á‹∞ ∑§fl‹ ∑§Ê‹/ŸË‹ ’ÊÚ‹ åflÊß¥≈U ¬UŸ ∑§Ê ¬˝ÿÊª
∑§⁄¥U–  ªÊ‹ ∑§Ê ∞∑§ ’Ê⁄U ∑§Ê‹Ê ∑§⁄UŸ ∑§ ’ÊŒ ß‚∑§Ê Á◊≈UÊŸ ÿÊ ’Œ‹Ÿ ∑§Ë
•ŸÈ◊ÁÃ Ÿ„Ë¥ „Ò–  ÿÁŒ Á∑§‚Ë ¬˝‡Ÿ ∑§ ‚Ê◊Ÿ ∞∑§ ‚ íÿÊŒÊ ªÊ‹ ∑§Ê‹ Á∑§ÿ ª∞
„Ê¥ ÃÊ ◊‡ÊËŸ mÊ⁄UÊ ©‚∑§ Á‹∞ ‡ÊÍãÿ •¥∑§ ÁŒÿÊ ¡Ê∞ªÊ–

7. Á∑§‚Ë ÷Ë ÁSÕÁÃ ◊¥ ©ûÊ⁄U ‡ÊË≈U ∑§Ê Ÿ ◊Ê«∏¥–
8. ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ¬⁄U ∑§Êß¸ ÷Ë ⁄U»§ ∑§Êÿ¸ Ÿ„Ë¥ ∑§⁄UŸÊ „Ò–  ⁄U»§ ∑§Êÿ¸ ∑§ Á‹∞ ß‚

¬ÈÁSÃ∑§Ê ◊¥ SÕÊŸ ÁŒÿÊ ªÿÊ „Ò–
9. ¬⁄UËˇÊÊ „ÊÚ‹/∑§◊⁄UÊ¥ ◊¥ ◊Ê’Êß‹ $»§ÊŸ ÃÕÊ ’ÃÊ⁄U ‚¥øÊ⁄U ‚ÊœŸ ¬Í⁄UË Ã⁄U„ ÁŸÁ·h

„Ò¥– ©ê◊ËŒflÊ⁄UÊ¥ ∑§Ê ©Ÿ∑§ •¬Ÿ Á„Ã ◊¥ ‚‹Ê„ ŒË ¡ÊÃË „Ò Á∑§ ◊Ê’Êß‹ $»§ÊŸ/
Á∑§‚Ë •ãÿ ’ÃÊ⁄U ‚¥øÊ⁄U ‚ÊœŸ ∑§Ê ÁSflø •ÊÚ»§ ∑§⁄U∑§ ÷Ë •¬Ÿ ¬Ê‚ Ÿ ⁄Uπ¥–
ß‚ ¬˝ÊflœÊŸ ∑§Ê •ŸÈ¬Ê‹Ÿ Ÿ ∑§⁄UŸ ∑§Ê ¬⁄UËˇÊÊ ◊¥ •ŸÈÁøÃ ©¬ÊÿÊ¥ ∑§Ê ¬˝ÿÊª
◊ÊŸÊ ¡ÊÿªÊ •ÊÒ⁄U ©Ÿ∑§ ÁflL§h ∑§Êÿ¸flÊ„Ë ∑§Ë ¡Ê∞ªË, Á¡‚◊¥ ©Ÿ∑§Ë ©ê◊ËŒflÊ⁄UË
⁄Ug ∑§⁄UŸÊ ÷Ë ‡ÊÊÁ◊‹ „Ò–

10. •èÿÕË¸ •¬ŸË ©ûÊ⁄U ¬ÈÁSÃ∑§Ê ¬ÿ¸flˇÊ∑§ ∑§Ê ‚ÊÒ¥¬ Á’ŸÊ •ÊÒ⁄U •¬Ÿ ⁄UÊ‹ Ÿ¥’⁄U ∑§
‚Ê◊Ÿ ©ÁøÃ SÕÊŸ ¬⁄U ©¬ÁSÕÁÃ ¬òÊ∑§ ¬⁄U „SÃÊˇÊ⁄U Á∑§∞ Á’ŸÊ ¬⁄UËˇÊÊ „ÊÚ‹/∑§ˇÊ
‚ ’Ê„⁄U Ÿ„Ë¥ ¡Ê ‚∑§ÃÊ–  ß‚∑§ •‹ÊflÊ •èÿÕË¸ ∑§Ê ©¬ÁSÕÁÃ ¬òÊ∑§ ¬⁄U „SÃÊˇÊ⁄U
∑§⁄UŸ ‚ ¬„‹ ÿ„ ÷Ë ‚ÈÁŸÁ‡øÃ ∑§⁄UŸÊ øÊÁ„∞ Á∑§ ’È∑§‹≈U Ÿ¥’⁄U, ’È∑§‹≈U ‚Ë⁄UË¡
•ÊÒ⁄U •Ê∞◊•Ê⁄U ©ûÊ⁄U ¬ÈÁSÃ∑§Ê ‚¥ÅÿÊ ‚„Ë …¥Uª ‚ Á‹πË ªß¸ „Ê–  ∞‚Ê ŸÊ ∑§⁄UŸ
¬⁄U, •Ê∞◊•Ê⁄U ©ûÊ⁄U ¬ÈÁSÃ∑§Ê ∑§Ê •◊Êãÿ ◊ÊŸÊ ¡Ê∞ªÊ/◊ÍÀÿÊ¥∑§Ÿ Ÿ„Ë¥ Á∑§ÿÊ ¡Ê
‚∑§ÃÊ „Ò–

11. ÿÁŒ Á„ãŒË ‚¥S∑§⁄UáÊ ◊¥ ∑§Êß¸ ÷Ë òÊÈ≈UË/Áfl‚¥ªÁÃ ¬Êß¸ ¡ÊÃË „Ò, ÃÊ ©‚ •flSÕÊ ◊¥
•¥ª˝¡Ë ‚¥S∑§⁄UáÊ „Ë ◊Êãÿ „ÊªÊ–

1. Before you start to answer the questions you must check this booklet and
ensure that it contains all the pages (1-16) and see that no page or portion
thereof is missing or repeated.  Candidates are also required to check that
they have got the right question booklet strictly for the post candidate has
applied for.  If you find any defect in this Booklet, you must get it replaced
immediately.

2. OMR Answer-Sheet is within the Question Booklet. Please ensure
OMR Answer-Sheet number and Test Booklet No. of Question Paper
are same. Read the instructions printed on OMR Answer-Sheet
carefully before filling the information on the OMR Answer-Sheet.
You must complete and code all the details on the OMR answer sheet
correctly failing which your answer sheet may not be evaluated. You
must also put your signature on the OMR Answer-Sheet at the
prescribed place before you actually start answering the questions.
These instructions must be fully complied with, failing which, your
OMR Answer-Sheet may not be evaluated.

3. The OMR Answer-Sheet will be in triplicate (Original and two carbon copies).
Candidate has to take one carbon copy (marked as ‘candidate copy’) with
him/her after examination and handover the original OMR along with one
carbon copy to invigilator. If candidate fails to handover the original OMR
along with one carbon copy to invigilator, his /her candidature will be cancelled.
Further, if the candidate tampers with candidate OMR carbon copy and
claims for same, in that case also his/her candidature will be cancelled.

4. This booklet consists of 100 Multiple Choice Questions.  Each question has
4 (four) alternatives (A), (B), (C) and (D).  In any case only one alternative
will be the correct answer.  In case if you find more than one correct answer,
then choose the most appropriate single option and darken the appropriate
circle in the answer sheet in front of the related question.

5. For each correct answer One mark will be given and for each incorrect
answer 0.25 marks will be deducted.

6. Use Black/Blue ball point Pen to darken the circle.  Answer once darkened
is not allowed to be erased or altered.  Against any question if more than one
circle is darkened, machine will allot zero mark for that question.

7. Do not fold answer sheet in any case.
8. No rough work is to be done on the Answer-Sheet.  Space for rough work

has been provided in this booklet.
9. Mobile phones and wireless communication devices are completely banned

in the examination hall/rooms.  Candidates are advised not to keep mobile
phones/any other wireless communication devices with them even switching
it off, in their own interest.  Failing to comply with this provision will be
considered as using unfair means in the examination and action will be taken
against them including cancellation of their candidature.

10. Candidate should not leave the examination hall / room without
handing over his/her Answer-Sheet to the invigilator and without
signing on the attendance sheet at proper place against your roll
number, further candidate should also ensure that booklet no., booklet
series and OMR Answer-Sheet No. are correctly written on attendance
sheet before signing on it, failing in doing so, may lead to
disqualification / no evaluation of OMR Answer-Sheet.

11. In case of any discrepancy found in Hindi language, English version will be
treated as final.

  ©ê◊ËŒflÊ⁄UÊ¥ ∑§ Á‹∞ •ŸÈŒ‡Ê   Instructions to the Candidates

©ê◊ËŒflÊ⁄U ∑§Ê ŸÊ◊/Name of Candidate : ________________________ ©ê◊ËŒflÊ⁄U ∑§ „SÃÊˇÊ⁄U/Signature of Candidate : ___________________
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Direction(1-2) : Complete the sentences using most
appropriate conjunctions:

1. I cannot make tea __________ I ran out of
milk.

(A) or (B) because
(C) so (D) if

2. She is tired __________ she wants to go for a
walk.

(A) and (B) but
(C) or (D) because

Direction (3-4) : Complete the sentences using most
appropriate preposition:

3. The cat is hiding __________ the dollhouse.

(A)  in (B)  on
(C)  above (D) between

4. The ball bounced __________ the wall.

(A) on (B) in
(C) under (D) against

5. They __________ been waiting for hours.

(A) has (B) have
(C) will (D) having

6. Arrange the phrases to form a meaningful
sequence:

i. Most people are other people.

ii. Their thoughts are someone else’s
opinions,

iii. Oscar Wilde once said that

iv. Their lives a mimicry,

v. Their passions a quotation.

(A) i - ii - iii - iv - v (B) iii - i - ii - iv - v

(C) iv - i - ii - v - iii (D) ii - v - i - iii - iv

7. John does not earn ___ money. And yet, with
__________ money he earns, he looks after
his family well.

(A) much, the little (B) many, the little
(C) much, few (D) many, a few

8. There aren’t __________ books left in the box.

(A) so much (B) many
(C) much (D) many more

9. The students __________ their homework
before the deadline.

(A) complete (B) completes
(C) completed (D) completing

10. Identify the correct spelling.

(A) Mischevious (B) Mischievous
(C) Mischievious (D) Mischeivous

11. The new law will __________ our rights as
citizens.

(A) effect (B) affect

(C) assume (D) pretend

12. Arrange the phrases to form a meaningful
sequence:

i. that is very strong.

ii. When presented with evidence

iii. that works against their belief,

iv. Sometimes people hold a core belief

v. the new evidence cannot be accepted.

(A) iv - i - ii - iii - v (B) i - ii - iii - iv - v

(C) ii - i - iii - v - iv (D) iii - i - ii - v - iv
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13. Choose the correct meaning of the phrase “hit
the nail on the head”.

(A) Accurately identify or address a
problem

(B) Literally hit a nail on the head

(C) Miss the point

(D) Be in pain

14. Identify the antonym of the underlined word
in the given sentence:

Despite the grim  circumstances, he
maintained a sense of determination and
hope.

(A) Cheerful (B) Desperate
(C) Tense (D) Peaceful

15. Choose the correct meaning of the phrase
“kick the bucket”.

(A) Start a new project

(B) Pass away or die

(C) Jump over an obstacle

(D) Win a competition

16. He has __________ the book, and he can’t
wait to read it.

(A) borrowed (B) Lent

(C) hired (D) given

17. The detective found __________ interesting
clue at __________ crime scene.

(A) an, a (B) an, the

(C) a, an (D) the, the

18. Identify the synonym of the underlined word
in the given sentence:

She was elated  when she received the job
offer after months of searching for
employment.

(A) Proud (B) Peaceful
(C) Angry (D) Joyous

19. Identify the error in this sentence:

She enjoy reading books.

(A) She (B) enjoy
(C) reading books (D) no error

20. Identify the antonym of the word
“Eradicate”

(A) Remove (B) Intensify
(C) Amplify (D) Preserve

21. A __________ of wolves emerged from the
forest.

(A) Pack (B) Herd
(C) Troop (D) Swarm

22. A __________ of sheep grazed in the
meadow.

(A) flock (B) herd
(C) troop (D) swarm

23. Identify the correct spelling.

(A) Nauseuos (B) Nausious
(C) Nauseous (D) Nauseus

24. Identify the synonym of the word
“Ephemeral”

(A) Eternal (B) Scant
(C) Permanent (D) Brief

25. Identify the error in this sentence: The dog
was wagging it’s tail.

(A) The

(B) dog was wagging

(C) it’s tail

(D) no error
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¬˝oA 26-28 ∑‘ Á‹∞, •Ê¬∑§Ù ÃËŸ ‡Êéº •ÊÒ⁄ ∞∑§ Á⁄Q§ SÕÊŸ
ÁºπÊß¸ ºªÊ, øÊ⁄ ©ûÊ⁄ Áfl∑§À¬Ù¥ ◊¥ ‚ Á⁄Q§ SÕÊŸ ÷⁄¥– fl„ ©ûÊ⁄ øÈŸ¥
¡Ù ÃËŸ ‡ÊéºÙ¥ mÊ⁄Ê ¬˝SÃÈÃ ‚Ê≤‡ÿ ∑§Ù ‚flÙ¸ûÊ◊ M§¬ ‚ ¬Í⁄Ê ∑§⁄ÃÊ
„Ù–

For questions 26-28 you will see three words and a
blank, fill the blank from the four answer choices.
Choose the answer that best completes the analogy
posed by the three words.

26. __________ — ÉÊÙ«∏Ê —— ’Ù«¸U — ⁄‹ªÊ«∏Ë

(A) •SÃ’‹ (B) ¡ÍÃÊ

(C) ‚flÊ⁄Ë (D) ◊Ê©¢≈

__________ : horse :: board : train

(A) stable (B) shoe

(C) ride (D) mount

27.   ¬ÈòÊ — ◊Í‹ —— __________ — ÁflSÃÊÁ⁄Ã

(A) Á¬ÃÊ (B) ◊ÊÃÊ

(C) øø⁄Ê (D) ¬ÈòÊË

        son : nuclear :: ______ : extended

(A) father (B) mother

(C) cousin (D) daughter

28. 4 : 6 :: ______ : 16

(A) 2 (B) 14

(C) 8 (D) 10

¬˝oA 29-33 ∑‘  Á‹∞, ∞∑§ üÊ¥Îπ‹Ê ºË ªß¸ „Ò Á¡‚◊¥ ∞∑§ ¬º ‹È#
„Ò– Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ fl„ ‚„Ë Áfl∑§À¬ øÈŸ¥ ¡Ù üÊ¥Îπ‹Ê ∑§Ù
¬Í⁄Ê ∑§⁄ªÊ–

For questions, 29-33, a series is given with one term
missing. Choose the correct alternative from the
given ones that will complete the series.

29. BCFG, JKNO, RSVW, ?

(A) ZADE (B) HIKL

(C) STUX (D) MNPQ

30. 7, 12, 22, 42, 82, ?

(A) 173 (B) 162

(C) 163 (D) 143

31. 2, 3, 5, 9, 17, ?

(A) 31 (B) 32

(C) 33 (D) 34

32. 4, 6, 10, 16, 24, ?

(A) 28 (B) 30

(C) 34 (D) 40

33. ABC, PQR, DEF, STU, ?

(A) VWX (B) GHI

(C) IJK (D) GKL

34. ÁŸêŸÁ‹ÁπÃ ¬˝oA ◊¥ •ˇÊ⁄Ù¥ ∑‘  øÊ⁄ ‚◊Í„ „Ò¥– ßŸ◊¥ ‚ ∞∑§
‚◊Í„ •ãÿ ‚◊Í„Ù¥ ∑‘  ‚◊ÊŸ üÊáÊË ∑§Ê Ÿ„Ë¥ „Ò– Áfl·◊ øÈŸ¥–

In the following question, there are four
groups of letters. One of the groups does
not belong to the same category as others.
Find the odd one out.

(A) USTO (B) OOTU

(C) TTOU (D) SSTO
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35. ß‚ ¬˝oA ◊¥, øÊ⁄ ∑§ÕŸ •ÊÒ⁄ ©‚∑‘  ’Êº øÊ⁄ ÁŸc∑§·¸ I, II,
III •ÊÒ⁄ IV Áº∞ ª∞ „Ò¥– •Ê¬∑§Ù ÿ„ ◊ÊŸŸÊ „ÙªÊ Á∑§
∑§ÕŸ ‚àÿ „Ò¥, ÷‹ „Ë fl ‚Ê◊ÊãÿÃ— ôÊÊÃ ÃâÿÙ¥ ‚ Á÷ÛÊ
¬˝ÃËÃ „ÙÃ „Ù¥– •Ê¬∑§Ù ÿ„ Ãÿ ∑§⁄ŸÊ „Ò Á∑§ Áº∞ ª∞
ÁŸc∑§·ÙZ ◊¥ ‚ ∑§ıŸ ‚Ê, ÿÁº ∑§Ùß¸ „Ù, Áº∞ ª∞ ∑§ÕŸÙ¥ ∑§Ê
•ŸÈ‚⁄áÊ ∑§⁄ÃÊ „Ò–

∑§ÕŸ — (a) ‚÷Ë œÊÃÈ∞° øÊ¢ºË „Ò¥–

   (b) ‚÷Ë øÊ¢ºË „Ë⁄ „Ò¥–

   (c) ∑È§¿U „Ë⁄ ‚ÙŸÊ „Ò¥–

   (d) ∑È§¿U ‚ÙŸÊ ‚¢ª◊⁄◊⁄ „Ò¥–

ÁŸc∑§·¸ —

I. ∑È§¿U ‚ÙŸÊ œÊÃÈ „Ò¥–

II. ‚÷Ë œÊÃÈ∞° „Ë⁄Ê „Ò¥–

III. ∑È§¿U øÊ¢ºË ‚¢ª◊⁄◊⁄ „Ò¥–

IV. ∑È§¿UU ‚ÙŸÊ øÊ¢ºË „Ò¥–

(A) ∑§fl‹ ÁŸc∑§·¸ I •ŸÈ‚⁄áÊ ∑§⁄ÃÊ „Ò

(B) ∑§fl‹ ÁŸc∑§·¸ II •ŸÈ‚⁄áÊ ∑§⁄ÃÊ „Ò

(C) ∑§fl‹ ÁŸc∑§·¸ III •ŸÈ‚⁄áÊ ∑§⁄ÃÊ „Ò

(D) ∑§fl‹ ÁŸc∑§·¸ IV •ŸÈ‚⁄áÊ ∑§⁄ÃÊ „Ò
In this question, there are four statements
followed by four conclusions I, II, III and IV.
You have to consider that the statements to
be true even if they seem to be at variance
from commonly known facts. You have to
decide which of the given conclusions, if any,
follow from the given statements.

Statements: (a) All metals are silver.

  (b) All silver are diamond.

  (c) Some diamonds are gold.

  (d) Some gold are marbles.

Conclusions :

I. Some gold are metals.

II. All metals are diamond.

III. Some silver are marble.

IV. Some gold are silver.

(A) Only conclusion I follows

(B) Only conclusion II follows

(C) Only conclusion III follows

(D) Only conclusion IV follows

36. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê ‡Êéº U”UNIVERSITY” ∑‘
¬„‹, 5fl¥, 6fl¥ •ÊÒ⁄ 9fl¥ •ˇÊ⁄Ù¥ ‚ ’Ÿ •Õ¸¬ÍáÊ¸ ‡Êéº ∑‘
ºÊ∞° ¿UÙ⁄ ‚ ÃË‚⁄Ê •ˇÊ⁄ „Ò?
 Which of the following is the third letter from
the right end of the meaningful word
formed from the 1st, 5th, 6th and 9th letters
of the word “UNIVERSITY” ?

(A) U (B) E

(C) T (D) R

37. ß‚ ¬˝oA ◊¥, a, b, c •ÊÒ⁄ d ÁøÁqÃ øÊ⁄ •Ê∑Î§ÁÃÿÙ¥ ◊¥ ‚
ÃËŸ ∞∑§ ÁŸÁpÃ Ã⁄Ë∑‘  ‚ ‚◊ÊŸ „Ò¥– „Ê‹Ê°Á∑§, ∞∑§ •Ê∑Î§ÁÃ
ºÍ‚⁄Ù¥ ∑‘  ¡Ò‚Ê Ÿ„Ë¥ „Ò– fl„ •Ê∑Î§ÁÃ øÈŸ¥ ¡Ù ’ÊÁ∑§ÿÙ¥ ‚
Á÷ÛÊ „Ò–

(A) •Ê∑Î§ÁÃ a (B) •Ê∑Î§ÁÃ b

(C) •Ê∑Î§ÁÃ c (D) •Ê∑Î§ÁÃ d
In the following problem, out of the four
figures marked a, b, c, and d, three are similar
in a certain manner. However, one figure is
not like the others. Choose the figure which
is different from the rest.

(A) Figure a (B) Figure b

(C) Figure c (D) Figure d

38. “ß¢‚ÈÁ‹Ÿ” “„Ê◊Ù¸Ÿ” ‚ ©‚Ë ¬˝∑§Ê⁄ ‚¢’¢ÁœÃ „Ò ¡Ò‚ “¬Áå‚Ÿ”
“__________” ‚ ‚¢’¢ÁœÃ „Ò–

(A) ∞¢¡Êß◊ (B) ¬ÊøŸ

(C) ¬≈ (D) Áfl≈ÊÁ◊Ÿ
‘Insulin’ is related to ‘Hormone’ in the same
way as ‘Pepsin’ is related to __________’.

(A) Enzyme (B) Digestion

(C) Stomach (D) Vitamin
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39. ÿÁº P, Q ∑§Ê ¬ÁÃ „Ò •ÊÒ⁄ R, S •ÊÒ⁄ Q ∑§Ë ◊Ê° „Ò, ÃÙ R,
P ∑§Ê ÄÿÊ „Ò?

(A) ◊Ê° (B) ’„Ÿ

(C) øÊøË (D) ‚Ê‚

If P is the husband of Q and R is the mother
of S and Q, what is R to P ?

(A) Mother (B) Sister

(C) Aunt (D) Mother-in-law

40. Áfl·◊ øÈŸ¥

(A) ª̋Ê◊ (B) ‹Ë≈⁄

(C) ≈Ÿ (D) ÁÄfl¥≈‹

 Find the odd one out

(A) Grams (B) Litres

(C) Tonnes (D) Quintals

41. A•ÊÒ⁄ B ÷Êß¸ „Ò¥– C •ÊÒ⁄ D ’„Ÿ¥ „Ò¥– A ∑§Ê ’≈Ê D ∑§Ê
÷Êß¸ „Ò– B, C ‚ Á∑§‚ ¬˝∑§Ê⁄ ‚¢’¢ÁœÃ „Ò?

(A) Á¬ÃÊ (B) ÷Êß¸

(C) øÊøÊ (D) ’≈Ê

        A and B are brothers. C and D are sisters. A’s
son is D’s brother. How is B related to C ?

(A) Father (B) Brother

(C) Uncle (D) Son

42. A, D ∑§Ë ◊Ê° •ÊÒ⁄ B ∑§Ë ’„Ÿ „Ò– B ∑§Ë ∞∑§ ’≈Ë C „Ò,
Á¡‚∑§Ê ÁflflÊ„ F ‚ „È•Ê „Ò– G, A ∑§Ê ¬ÁÃ „Ò– G, D ‚
Á∑§‚ ¬˝∑§Ê⁄ ‚¢’¢ÁœÃ „Ò?

(A) •¢∑§‹ (B) ¬ÁÃ

(C) ’≈Ê (D) Á¬ÃÊ

A is the mother of D and sister of B. B has a
daughter C who is married to F. G is the
husband of A. How is G related to D ?

(A) Uncle (B) Husband

(C) Son (D) Father

43. ŸËø ∞∑§ ¬Ê‚ ∑§Ë ºÙ ÁSÕÁÃÿÊ° ÁºπÊß¸ ªß¸ „Ò¥– ¡’ v ‡ÊË·¸
¬⁄ „Ò ÃÙ ∑§ıŸ ‚Ë ‚¢ÅÿÊ ‚’‚ ŸËø „ÙªË?

(A) 2
(B) 3
(C) 5

(D) ÁŸœÊ¸Á⁄Ã Ÿ„Ë¥ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ
Two positions of a dice are shown below.
When 1 is at the top which number will be
at the bottom ?

(A) 2
(B) 3
(C) 5
(D) Cannot be determined

44. ß‚ ¬˝oA ◊¥, a, b, c •ÊÒ⁄ d ÁøÁqÃ øÊ⁄ •Ê∑Î§ÁÃÿÙ¥ ◊¥ ‚
ÃËŸ ∞∑§ ÁŸÁpÃ Ã⁄Ë∑‘ ‚ ‚◊ÊŸ „Ò¥– „Ê‹Ê°Á∑§, ∞∑§ •Ê∑Î§ÁÃ
ºÍ‚⁄Ù¥ ∑‘  ¡Ò‚Ê Ÿ„Ë¥ „Ò– fl„ •Ê∑Î§ÁÃ øÈŸ¥ ¡Ù ’ÊÁ∑§ÿÙ¥ ‚
Á÷ÛÊ „Ò–

(A) •Ê∑Î§ÁÃ a (B) •Ê∑Î§ÁÃ b
(C) •Ê∑Î§ÁÃ c (D) •Ê∑Î§ÁÃ d
In the following problem, out of the four
figures marked a, b, c, and d three are similar
in a certain manner. However, one figure is
not like the others. Choose the figure which
is different from the rest.

(A) Figure a (B) Figure b
(C) Figure c (D) Figure d
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45. ß‚ ¬˝oA ◊¥, ºÙ ∑§ÕŸ •ÊÒ⁄ ©‚∑‘  ’Êº ºÙ ÁŸc∑§·¸ I •ÊÒ⁄ II
Áº∞ ª∞ „Ò¥– •Ê¬∑§Ù ÿ„ ◊ÊŸŸÊ „ÙªÊ Á∑§ ºÙŸÙ¥ ∑§ÕŸ ‚àÿ
„Ò¥, ÷‹ „Ë fl ‚Ê◊ÊãÿÃ— ôÊÊÃ ÃâÿÙ¥ ‚ Á÷ÛÊ ¬˝ÃËÃ „ÙÃ „Ù¥–
•Ê¬∑§Ù ÿ„ Ãÿ ∑§⁄ŸÊ „Ò Á∑§ Áº∞ ª∞ ÁŸc∑§·ÙZ ◊¥ ‚ ∑§ıŸ
‚Ê, ÿÁº ∑§Ùß¸ „Ù, Áº∞ ª∞ ∑§ÕŸÙ¥ ∑§Ê •ŸÈ‚⁄áÊ ∑§⁄ÃÊ „Ò–

∑§ÕŸ — (a) ∑È§¿U S∑§‹ ¬¥Á‚‹ „Ò¥

  (b) ∑È§¿U ß⁄ïÊ⁄ ¬¥Á‚‹ „Ò¥–

ÁŸc∑§·¸—

I. ∑È§¿U ¬¥Á‚‹¥ ß⁄ïÊ⁄ „Ò¥–

II. ∑È§¿U ¬¥Á‚‹¥ S∑§‹ „Ò¥–

(A) ∑§fl‹ ÁŸc∑§·¸ I •ŸÈ‚⁄áÊ ∑§⁄ÃÊ „Ò

(B) ∑§fl‹ ÁŸc∑§·¸ II •ŸÈ‚⁄áÊ ∑§⁄ÃÊ „Ò

(C) ÁŸc∑§·¸ I •ÊÒ⁄ II ºÙŸÙ¥ •ŸÈ‚⁄áÊ ∑§⁄Ã „Ò¥

(D) Ÿ ÃÙ ÁŸc∑§·¸ I •ÊÒ⁄ Ÿ „Ë ÁŸc∑§·¸ II •ŸÈ‚⁄áÊ
∑§⁄ÃÊ „Ò

In this question, there are two statements
followed by two conclusions I, and II. You
have to consider that the two statements to
be true even if they seem to be at variance
from commonly known facts. You have to
decide which of the given conclusions, if any,
follow from the given statements.

Statements : (a) Some scales are pencils

    (b) Some erasers are pencils.

Conclusions :

I. Some pencils are erasers.

II. Some pencils are scales.

(A) Only conclusion I follows

(B) Only conclusion II follows

(C) Both conclusion I and II follow

(D) Neither conclusion I nor conclusion II
follows

46. ß‚ ¬˝oA ◊¥, ºÙ ∑§ÕŸ •ÊÒ⁄ ©‚∑‘  ’Êº ºÙ ÁŸc∑§·¸ I •ÊÒ⁄ II
Áº∞ ª∞ „Ò¥– •Ê¬∑§Ù ÿ„ ◊ÊŸŸÊ „ÙªÊ Á∑§ ºÙŸÙ¥ ∑§ÕŸ ‚àÿ
„Ò¥, ÷‹ „Ë fl ‚Ê◊ÊãÿÃ— ôÊÊÃ ÃâÿÙ¥ ‚ Á÷ÛÊ ¬˝ÃËÃ „ÙÃ „Ù¥–
•Ê¬∑§Ù ÿ„ Ãÿ ∑§⁄ŸÊ „Ò Á∑§ Áº∞ ª∞ ÁŸc∑§·ÙZ ◊¥ ‚ ∑§ıŸ
‚Ê, ÿÁº ∑§Ùß¸ „Ù, Áº∞ ª∞ ∑§ÕŸÙ¥ ∑§Ê •ŸÈ‚⁄áÊ ∑§⁄ÃÊ „Ò–

∑§ÕŸ— (a) ‚÷Ë ‚’ ∑§‹ „Ò¥–

 (b) ‚÷Ë ∑§‹ ◊Ë∆ „Ò¥–

ÁŸc∑§·¸—

I. ∑È§¿U ‚’ ◊Ë∆ „Ò¥–

II. ∑È§¿U ∑§‹ ‚’ „Ò¥.

(A) ÁŸc∑§·¸ I •ŸÈ‚⁄áÊ ∑§⁄ÃÊ „Ò–

(B) ÁŸc∑§·¸ II •ŸÈ‚⁄áÊ ∑§⁄ÃÊ „Ò–

(C) Ÿ ÃÙ ÁŸc∑§·¸ I •ÊÒ⁄ Ÿ „Ë II •ŸÈ‚⁄áÊ ∑§⁄ÃÊ „Ò

(D) ºÙŸÙ¥ ÁŸc∑§·¸ I •ÊÒ⁄ II •ŸÈ‚⁄áÊ ∑§⁄Ã „Ò¥
 In this question, there are two statements
followed by two conclusions I, and II. You
have to consider that the two statements to
be true even if they seem to be at variance
from commonly known facts. You have to
decide which of the given conclusions, if any,
follow from the given statements.

Statements : (a) All apples are bananas.

             (b) All bananas are sweet.

Conclusions :

I. Some apples are sweet.

II. Some bananas are apples.

(A) Conclusion I follows.

(B) Conclusion II follows.

(C) Neither conclusion I nor II follows

(D) Both conclusions I and II follow

47.    “¬Ê⁄Ê” ∑§Ê ‚¢’¢œ “œÊÃÈ” ‚ ©‚Ë ¬˝∑§Ê⁄ „Ò ¡Ò‚ “◊¥…U∑§” ∑§Ê
‚¢’¢œ “__________” ‚ „Ò–

(A) ∑Î¢§Ã∑§ (B) SÃŸ¬ÊÿË

(C) ‚⁄Ë‚Î¬ (D) ©÷ÿø⁄
        ‘Mercury’ is related to ‘Metal’ in the same way

as ‘Frog’ is related to ‘__________’.

(A) Rodent (B) Mammal

(C) Reptile (D) Amphibian
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48. Áfl·◊ øÈŸ¥–
Find the odd one out.

(A) 121 (B) 144

(C) 189 (D) 169

49. ß‚ ¬˝oA ◊¥, ºÙ ∑§ÕŸÙ¥ ∑‘  ’Êº øÊ⁄ ÁŸc∑§·¸ I, II, III •ÊÒ⁄
IV Áº∞ ª∞ „Ò¥– •Ê¬∑§Ù ÿ„ ◊ÊŸŸÊ „ÙªÊ Á∑§ ºÙŸÙ¥ ∑§ÕŸ
‚àÿ „Ò¥, ÷‹ „Ë fl ‚Ê◊ÊãÿÃ— ôÊÊÃ ÃâÿÙ¥ ‚ Á÷ÛÊ ¬˝ÃËÃ
„ÙÃ „Ù¥– •Ê¬∑§Ù ÿ„ Ãÿ ∑§⁄ŸÊ „Ò Á∑§ Áº∞ ª∞ ÁŸc∑§·ÙZ ◊¥
‚ ∑§ıŸ ‚Ê, ÿÁº ∑§Ùß¸ „Ù, Áº∞ ª∞ ∑§ÕŸÙ¥ ∑§Ê •ŸÈ‚⁄áÊ
∑§⁄ÃÊ „Ò–

∑§ÕŸ— (a) ‚÷Ë ◊Ù⁄ ‡Ê⁄ „Ò¥–
 (b) ∑È§¿U ’ÊÉÊ ◊Ù⁄ „Ò¥

ÁŸc∑§·¸—

I. ∑È§¿U ‡Ê⁄ ’ÊÉÊ Ÿ„Ë¥ „Ò¥–
II. ‚÷Ë ’ÊÉÊ ‡Ê⁄ „Ò¥.
III. ∑È§¿U ’ÊÉÊ ‡Ê⁄ „Ò¥
IV. ‚÷Ë ◊Ù⁄ ’ÊÉÊ „Ò¥–
(A) ∑§fl‹ ÁŸc∑§·¸ III •ŸÈ‚⁄áÊ ∑§⁄ÃÊ „Ò–
(B) ∑§fl‹ ÁŸc∑§·¸ IV •ŸÈ‚⁄áÊ ∑§⁄ÃÊ „Ò–
(C) ∑§fl‹ ÁŸc∑§·¸ I •ŸÈ‚⁄áÊ ∑§⁄ÃÊ „Ò–
(D) ∑§fl‹ ÁŸc∑§·¸ II •ŸÈ‚⁄áÊ ∑§⁄ÃÊ „Ò–
In this question, there are two statements
followed by four conclusions I, II, III and IV.
You have to consider that the two statements
to be true even if they seem to be at variance
from commonly known facts. You have to
decide which of the given conclusions, if any,
follow from the given statements.

Statements : (a) All peacocks are lions.

   (b) Some tigers are peacocks

Conclusions :

I. Some lions are not tigers.

II. All tigers are lions.

III. Some tigers are lions

IV. All peacocks are tigers.

(A) Only Conclusion III follows.

(B) Only Conclusion IV follows.

(C) Only Conclusion I follows.

(D) Only Conclusion II follows.

50. ß‚ ¬˝oA ◊¥, a, b, c, •ÊÒ⁄ d ÁøÁqÃ øÊ⁄ •Ê∑Î§ÁÃÿÙ¥ ◊¥ ‚
ÃËŸ ∞∑§ ÁŸÁpÃ Ã⁄Ë∑‘  ‚ ‚◊ÊŸ „Ò¥– „Ê‹Ê°Á∑§, ∞∑§ •Ê∑Î§ÁÃ
ºÍ‚⁄Ù¥ ∑‘  ¡Ò‚Ê Ÿ„Ë¥ „Ò– fl„ •Ê∑Î§ÁÃ øÈŸ¥ ¡Ù ’ÊÁ∑§ÿÙ¥ ‚
Á÷ÛÊ „Ò–

(A) •Ê∑Î§ÁÃ a (B) •Ê∑Î§ÁÃ b

(C) •Ê∑Î§ÁÃ c (D) •Ê∑Î§ÁÃ d

In this problem, out of the four figures
marked a, b, c and d three are similar in a
certain manner. However, one figure is not
like the others. Choose the figure which is
different from the rest.

(A) Figure a (B) Figure b

(C) Figure c (D) Figure d

51. ’Ê¢Ç‹Êº‡Ê ∑§Ë ⁄Ê¡œÊŸË ÄÿÊ „Ò?

(A) ∑§Ê’È‹ (B) ’Ê∑Í

(C) ÁÕê¬Í (D) …UÊ∑§Ê

What is the Capital of Bangladesh ?

(A) Kabul (B) Baku

(C) Thimphu (D) Dhaka

52. ª˝Ò◊Ë ¬È⁄S∑§Ê⁄ Á∑§‚ ˇÊòÊ ◊¥ ¬˝ºÊŸ Á∑§ÿ ¡ÊÃ „Ò¥?

(A) ‚ÊÁ„àÿ (B) ÁflôÊÊŸ

(C) ‚¢ªËÃ (D) Á»§À◊

In which field are the Grammy Awards
presented ?

(A) Literature (B) Science

(C) Music (D) Film
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53. ªÈ¡⁄ÊÃ ∑§Ë ⁄Ê¡œÊŸË ÄÿÊ „Ò?

(A) ‚Í⁄Ã (B) ⁄Ê¡∑§Ù≈

(C)  ªÊ¢œËŸª⁄ (D)  ¡Ê◊Ÿª⁄
What is the capital city of Gujarat ?

(A) Surat (B) Rajkot

(C) Gandhinagar (D) Jamnagar

54. ¬⁄◊flË⁄ ø∑˝§ ÄÿÊ „Ò?

(A) ‚flÙ¸ìÊ ŸÊªÁ⁄∑§ ¬È⁄S∑§Ê⁄

(B) ‚flÙ¸ìÊ flË⁄ÃÊ ¬È⁄S∑§Ê⁄

(C) ‚flÙ¸ìÊ π‹ ¬È⁄S∑§Ê⁄

(D) ‚flÙ¸ìÊ ‡ÊÒˇÊÁáÊ∑§ ¬È⁄S∑§Ê⁄
 What is the Param Vir Chakra?

(A) Highest Civilian Award

(B) Highest Gallantry Award

(C) Highest Sports Award

(D) Highest Academic Award

55. 2023 ∑§Ë flÒÁE∑§ ¡Ë«UË¬Ë ⁄Ò¥Á∑¢§ª ◊¥ ÷Ê⁄Ã ∑§Ê SÕÊŸ ÄÿÊ
„Ò?

(A) ºÍ‚⁄Ê (B) ÃË‚⁄Ê

(C) øıÕÊ (D) ¬Ê¢øflÊ¢
In the global GDP rankings of 2023, what is
India’s position ?

(A) Second (B) Third

(C) Fourth (D) Fifth

56. ÷Ê⁄Ã ◊¥ ªÈL§ºfl Á∑§‚ ∑§„Ê ¡ÊÃÊ „Ò?

(A) ◊„Êà◊Ê ªÊ¢œË

(B) ‹Ù∑§◊Êãÿ ª¢ªÊœ⁄ ÁÃ‹∑§

(C) ⁄flËãŒ˝ŸÊÕ ≈ÒªÙ⁄

(D) ‹Ê‹Ê ‹Ê¡¬Ã ⁄Êÿ
Who is referred to as “Gurudev” in India?

(A) Mahatma Gandhi

(B) Lokmanya Gangadhar Tilak

(C) Rabindranath Tagore

(D) Lala Lajpat Rai

57. ª˝Ë‚ ∑§Ë •ÊÁœ∑§ÊÁ⁄∑§ ◊ÈŒ˝Ê ÄÿÊ „Ò?

(A) ¬‚Ù (B) ∑˝§ÙŸ

(C) ‹Ê⁄Ë (D) ÿÍ⁄Ù

What is the official currency of Greece ?

(A) Peso (B) Krone

(C) Lari (D) Euro

58. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê ªÈ¡⁄ÊÃ ∑§Ê ⁄ÊÖÿ ¬‡ÊÈ „Ò?

(A) „¢ªÈ‹ (B) ∞Á‡ÊÿÊß¸ ‡Ê⁄

(C) ∑§SÃÍ⁄Ë ◊Îª (D) ∑§Ê‹Ê Á„⁄áÊ

Which of the following is the State animal of
Gujarat ?

(A) Hangul (B) Asiatic Lion

(C) Musk Deer (D) Black buck

59. ©ìÊ ãÿÊÿÊ‹ÿ ∑‘ ãÿÊÿÊœË‡Ê ∑§Ê flÃŸ ÁŸêŸÁ‹ÁπÃ ◊¥ ‚
Á∑§‚‚ Á‹ÿÊ ¡ÊÃÊ „Ò?

(A) ÷Ê⁄Ã ∑§Ë ‚◊Á∑§Ã ÁŸÁœ

(B) ⁄ÊÖÿ ∑§Ë ‚◊Á∑§Ã ÁŸÁœ

(C) ÷Ê⁄Ã ∑§Ë •Ê∑§ÁS◊∑§ÃÊ ÁŸÁœ

(D) ⁄ÊÖÿ ∑§Ë •Ê∑§ÁS◊∑§ÃÊ ÁŸÁœ

The salary of the Judge of High Court are
charged from which among the following ?

(A) Consolidated Fund of India

(B) Consolidated Fund of the State

(C) Contingency Fund of India

(D) Contingency Fund of State
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60. ◊äÿ ¬˝º‡Ê ∑‘  (1.5.2024 ‚) flÃ¸◊ÊŸ ◊ÈÅÿ◊¢òÊË ∑§ıŸ
„Ò¥?

(A) ÷¡Ÿ ‹Ê‹ ‡Ê◊Ê¸

(B) üÊË. ÁflcáÊÈºfl ‚Êÿ

(C) «UÊÚ. ◊Ù„Ÿ ÿÊºfl

(D) üÊË. ∞Ÿ.∑‘. Á‚¢„

Who is the current Chief Minister of Madhya
Pradesh (as on 1.5.2024) ?

(A) Sh. Bhajan Lal Sharma

(B) Sh. Vishnu Deo Sai

(C) Dr. Mohan Yadav

(D) Sh. N.K. Singh

61. ÷Ê⁄Ã ◊¥ Á∑§‚ ¬„‹ ∑§Ê ©g‡ÿ ¬Í⁄ º‡Ê ◊¥ ‚»§Êß¸,
SflÊSâÿ∑§ÊÁ⁄ÃÊ •ÊÒ⁄ Sflë¿UÃÊ ∑§Ù ’…U∏ÊflÊ ºŸÊ „Ò?

(A) ◊∑§ ßŸ ß¢Á«UÿÊ

(B) Sflë¿U ÷Ê⁄Ã Á◊‡ÊŸ

(C) Á«UÁ¡≈‹ ß¢Á«UÿÊ

(D) ÁS∑§‹ ß¢Á«UÿÊ

Which initiative in India aims at promoting
cleanliness, hygiene, and sanitation across the
country ?

(A) Make in India

(B) Swachh Bharat Mission

(C) Digital India

(D) Skill India

62. ’ÊÉÊ, Ã¥ºÈ•Ê •ÊÒ⁄ ÷Ê‹Í ∑§Ù •ÊüÊÿ ºŸ ∑‘  Á‹∞ ¡ÊŸÊ ¡ÊŸ
flÊ‹Ê ÃÊ«UÙ’Ê ⁄ÊC˛Ëÿ ©lÊŸ ÁSÕÃ „Ò —

(A) •‚◊ (B) Á’„Ê⁄

(C) ◊„Ê⁄ÊC̨ (D) ÃÁ◊‹ŸÊ«ÈU

Tadoba National Park known for sheltering
tiger, panther and bear is located in:

(A) Assam (B) Bihar

(C) Maharashtra (D) Tamilnadu

63. ÷Ê⁄Ã ¿UÙ«∏Ù •Ê¢ºÙ‹Ÿ Á∑§‚ fl·¸ ◊¥ ‡ÊÈM§ Á∑§ÿÊ ªÿÊ ÕÊ?

The Quit India Movement was launched in
which year ?

(A) 1942 (B) 1920

(C) 1905 (D) 1947

64. ⁄Ê¡SÕÊŸ ∑‘  (1.5.2024 ‚) flÃ¸◊ÊŸ ◊ÈÅÿ◊¢òÊË ∑§ıŸ „Ò¥?

(A) üÊË. ÷¡Ÿ ‹Ê‹ ‡Ê◊Ê¸

(B) üÊË. ÁflcáÊÈºfl ‚Êÿ

(C) «UÊÚ. ◊Ù„Ÿ ÿÊºfl

(D) üÊË. •‡ÊÙ∑§ ª„‹ÙÃ

Who is the current Chief Minister of Rajasthan
(as on 1.5.2024) ?

(A) Sh. Bhajan Lal Sharma

(B) Sh. Vishnu Deo Sai

(C) Dr. Mohan Yadav

(D) Sh. Ashok Gehlot

65. ÷Ê⁄Ã ◊¥ ◊ÊŸ∑§ ◊äÿÊq ⁄πÊ __________ ‚ „Ù∑§⁄
ªÈ¡⁄ÃË „Ò–

(A) Á◊¡Ê¸¬È⁄ (B) ∑§ÊŸ¬È⁄

(C) ¡ÿ¬È⁄ (D) ⁄Ê¡¬È⁄

The standard meridian in India passes
through __________.

(A) Mirzapur (B) Kanpur

(C) Jaipur (D) Rajpur
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66. ÷Ê⁄Ã ∑§Ë ÁŸêŸÁ‹ÁπÃ πÊ«∏Ë/πÊÁ«∏ÿÙ¥ ∑§Ù ºÁˇÊáÊ ‚ ©ûÊ⁄
Áº‡ÊÊ ∑§Ë •Ê⁄ √ÿflÁSÕÃ ∑§⁄¥–

1. ∑§ë¿U ∑§Ë πÊ«∏Ë

2. ◊ÛÊÊ⁄ ∑§Ë πÊ«∏Ë

3. ¬Ê∑§ πÊ«∏Ë

ŸËø Áº∞ ª∞ ∑§Ù«U ◊¥ ‚ ‚„Ë Áfl∑§À¬ øÈŸ¥ —
(A) 1, 2, 3 (B) 3, 1, 2

(C) 2, 3, 1 (D) 1, 3, 2

Arrange the following bays/ Gulfs of India
from south to north direction

1. Gulf of Kutch

2. Gulf of Mannar

3. Palk Bay

Choose the correct option from the codes
given below :

(A) 1, 2, 3 (B) 3, 1, 2

(C) 2, 3, 1 (D) 1, 3, 2

67. ÃÊåÃË ŸºË ∑§Ê ©Œ˜ª◊ ÷Ê⁄Ã ∑‘  Á∑§‚ ⁄ÊÖÿ ‚ „ÙÃÊ „Ò?

(A) ◊äÿ ¬˝º‡Ê

(B) ◊„Ê⁄ÊC̨

(C) ⁄Ê¡SÕÊŸ

(D) ªÈ¡⁄ÊÃ
From which Indian state does the Tapti River
originate ?

(A) Madhya Pradesh

(B) Maharashtra

(C) Rajasthan

(D) Gujarat

68. »§Ë»§Ê ÁflE ∑§¬ 2022 Á∑§‚Ÿ ¡ËÃÊ?

(A) »˝§Ê¢‚ (B) ∑˝§ÙÁ‡ÊÿÊ

(C) ’˝ÊïÊË‹ (D) •¡Z≈ËŸÊ
Who won the FIFA World Cup 2022 ?

(A) France (B) Croatia

(C) Brazil (D) Argentina

69. ø¢Œ˝ªÈåÃ ◊ıÿ¸ Ÿ Á∑§‚ ¬˝ÊøËŸ ÷Ê⁄ÃËÿ ‡Ê„⁄ ◊¥ •¬ŸË
⁄Ê¡œÊŸË SÕÊÁ¬Ã ∑§Ë ÕË?

(A) ©îÊÒŸ (B) ¬Ê≈Á‹¬ÈòÊ

(C) ÃˇÊÁ‡Ê‹Ê (D) flÊ⁄ÊáÊ‚Ë

In which ancient Indian city did
Chandragupta Maurya establish his capital?

(A) Ujjain (B) Patliputra

(C) Taxila (D) Varanasi

70. ’˝ÊïÊË‹ ∑§Ë •ÊÁœ∑§ÊÁ⁄∑§ ◊ÈŒ˝Ê ÄÿÊ „Ò?

(A) ºËŸÊ⁄ (B) Á⁄ÿÊ‹

(C) ◊ŸÊÃ (D)  ‹fl

 What is the official currency of Brazil ?

(A) Dinar (B) Real

(C) Manat (D) Lev

71.  ’¢ªÊ‹ ∑§Ë πÊ«∏Ë ÷Ê⁄Ã ∑‘ ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ Ã⁄»§
ÁSÕÃ „Ò?

(A) ºÁˇÊáÊ-¬Áp◊ (B) ºÁˇÊáÊ-¬Ífl¸

(C) ©ûÊ⁄-¬Áp◊ (D) ©ûÊ⁄-¬Ífl¸

The Bay of Bengal is located on which of the
following side of India ?

(A) South-West (B) South-East

(C) North-West (D) North-East

72. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ “¬ƒÿÙ‹Ë ∞Ä‚¬˝‚” ∑‘ ŸÊ◊ ‚
¡ÊŸÊ ¡ÊÃÊ „Ò?

(A) ¬Ë.≈Ë. ©·Ê (B) ‚ÊÁŸÿÊ Á◊¡Ê¸

(C) ◊Ò⁄Ë ∑§ÊÚ◊ (D)  Á„◊Ê ºÊ‚

Who among the following is known as
‘Payyoli Express’ ?

(A) P.T. Usha (B) Sania Mirza

(C) Mary Kom (D) Hima Das
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73. ¬˝œÊŸ◊¢òÊË ∑§ı‡Ê‹ Áfl∑§Ê‚ ÿÙ¡ŸÊ 4.0 ∑‘  ∑¥§Œ˝ ∑‘  M§¬ ◊¥
ÄÿÊ ¬Á⁄∑§À¬ŸÊ ∑§Ë ªß¸ ÕË?

(A) ⁄Ù¡ªÊ⁄ ¬⁄ ¬˝Á‡ÊˇÊáÊ, ©lÙª ‚Ê¤ÊºÊ⁄Ë, •ÊÒ⁄ ©lÙª
∑§Ë ¡M§⁄ÃÙ¥ ∑‘ ‚ÊÕ ¬Ê∆KR§◊Ù¥ ∑§Ê ‚¢⁄πáÊ

(B) ¬Ê⁄¢¬Á⁄∑§ Á‡ÊÀ¬ •ÊÒ⁄ ∑§‹Ê

(C) ∑Î§Á· Ã∑§ŸË∑§

(D) ©¬⁄ÙQ§ ◊¥ ‚ ∑§Ùß¸ Ÿ„Ë¥
What was envisaged as the focus of Pradhan
Mantri Kaushal Vikas Yojana 4.0 ?

(A) On-job training, industry partnership,
and alignment of courses with needs of
industry

(B) Traditional crafts and arts

(C) Agricultural techniques

(D) None of the above

74. ÷Ê⁄Ã ‚⁄∑§Ê⁄ ∑§Ë ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ë ÿÙ¡ŸÊ ÉÊ⁄Ù¥
∑§Ù ∞‹¬Ë¡Ë ∑§ŸÄ‡ÊŸ ¬˝ºÊŸ ∑§⁄ÃË „Ò?

(A) ¬˝œÊŸ◊¢òÊË ©îfl‹Ê ÿÙ¡ŸÊ

(B) ¬˝œÊŸ◊¢òÊË ‚È⁄ˇÊÊ ’Ë◊Ê

(C) ¬˝œÊŸ◊¢òÊË ¡ËflŸ ÖÿÙÁÃ ÿÙ¡ŸÊ

(D) ¬˝œÊŸ◊¢òÊË •ÊflÊ‚ ÿÙ¡ŸÊ
Which of the following schemes of the
Government of India provides LPG
connections to households ?

(A) Pradhan Mantri Ujjwala Yojana

(B) Pradhan Mantri Suraksha Bima

(C) Pradhan Mantri Jeevan Jyoti Yojana

(D) Pradhan Mantri Awas Yojana

75. ÁflE ∑‘ Á∑§‚ •¢ÃÁ⁄ˇÊ ‚¢ª∆Ÿ Ÿ ø¢Œ˝ÿÊŸ 3 ‹ÊÚãø Á∑§ÿÊ
„Ò?

(A) ŸÊ‚Ê (B) ¡ÒÄ‚Ê

(C) ß‚⁄Ù (D) ⁄ÙS∑§ÙS◊Ù‚
Which space organisation in the world has
launched Chandrayaan 3 ?

(A) NASA (B) JAXA

(C) ISRO (D) Roscosmos

76. ∞∑§ »§ÙŸ ∑§Ù 725 L§¬ÿ ◊¥ ’øŸ ¬⁄ •Á¡¸Ã ‹Ê÷, ß‚
425 L§¬ÿ ◊¥ ’øŸ ¬⁄ „ÙŸ flÊ‹Ë „ÊÁŸ ∑‘  ‚◊ÊŸ „Ò– »§ÙŸ
∑§Ê ‹ÊªÃ ◊ÍÀÿ ___________ „Ò

(A) 576 L§¬ÿ (B) 574 L§¬ÿ

(C) 573 L§¬ÿ (D) 575 L§¬ÿ

A profit earned on selling a phone for Rs 725
is same as loss on selling it for Rs 425. The
cost price of the phone is __________.

(A) Rs 576 (B) Rs 574

(C) Rs 573 (D) Rs 575

77. ÿÁº 6 •ãÊÊŸÊ‚ ∑§Ê ◊ÍÀÿ 28 L§¬ÿ „Ò, ÃÙ 336 L§¬ÿ ◊¥
Á∑§ÃŸ •ŸÊŸÊ‚ π⁄Ëº ¡Ê ‚∑§Ã „Ò¥?

(A) 54 (B) 72

(C) 64 (D) ßŸ◊¥ ‚ ∑§Ùß¸ Ÿ„Ë¥

If 6 pineapples cost Rs 28, how many
pineapples can be bought for Rs 336?

(A) 54 (B) 72

(C) 64 (D) None of these

78. 396, 1080 ∑§Ê ◊„ûÊ◊ ‚◊Ê¬flÃ¸∑§ •ÊÒ⁄ ‹ÉÊ ÈûÊ◊
‚◊Ê¬flÃ¸∑§ __________ „Ò¥–

(A) 18, 1980 (B) 36, 11880

(C) 72, 5940 (D) 12, 35640

Highest common factor and least common
multiple of 396, 1080 are __________.

(A) 18, 1980 (B) 36, 11880

(C) 72, 5940 (D) 12, 35640

79. ™°§øÊß¸ h •ÊÒ⁄ ÁòÊÖÿÊ r flÊ‹ ∞∑§ Á‚‹¥«U⁄ ∑§Ê ∑È§‹ ‚Ã„
ˇÊòÊ»§‹ __________ „ÙªÊ–

         Total surface area of a cylinder with height h
and radius r will be __________

(A) 2 π h r+π h2 (B) π h2r+2 π r h

(C) 2 π r h+2 π h2 (D) 2 πr h+2 π r2
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80. 200000 L§¬ÿ ¬⁄ 6% ¬˝ÁÃ fl·¸ ∑§Ë º⁄ ‚ 6 ◊„ËŸ ∑‘
Á‹∞ ÁÃ◊Ê„Ë •ÊœÊ⁄ ¬⁄ ø∑˝§flÎÁh éÿÊ¡ ____________
„Ò–

(A) 6045 L§¬ÿ (B) 6245 L§¬ÿ

(C) 6145 L§¬ÿ (D) ßŸ◊¥ ‚ ∑§Ùß¸ Ÿ„Ë¥
The compound interest on Rs 200000 at 6%
per annum for 6 months compounded
quarterly is ____________

(A)   Rs 6045 (B) Rs 6245

(C)    Rs 6145 (D) None of these

81. ∞∑§ ‚¢ÅÿÊ •¬Ÿ 10% ‚ 90 •Áœ∑§ „Ò– ‚¢ÅÿÊ
___________ „Ò–
(A) 100 (B) 90

(C) 200 (D) ßŸ◊¥ ‚ ∑§Ùß¸ Ÿ„Ë¥
A number exceeds 10% of itself by 90. The
number is ___________.

(A) 100 (B) 90

(C) 200 (D) None of these

82. ÁºÑË ∑§Ë ¡Ÿ‚¢ÅÿÊ flÎÁh ∑§Ë flÊÁ·¸∑§ º⁄ 10% „Ò– ÿÁº
ß‚∑§Ë flÃ¸◊ÊŸ ¡Ÿ‚¢ÅÿÊ 1331000 „Ò– 3 fl·¸ ¬„‹ ÿ„
____________ ÕË
(A) 1210000 (B) 1000000

(C) 1110000 (D) ßŸ◊¥ ‚ ∑§Ùß¸ Ÿ„Ë¥
The annual rate of growth of population of
Delhi is 10%. If its present population is
1331000. 3 years ago it was ____________

(A) 1210000 (B) 1000000

(C) 1110000 (D) None of these

83. ÿÁº 35 •Êº◊Ë 4 ÁºŸ ◊¥ ∞∑§ πÃ ∑§Ë ∑§≈Êß¸ ∑§⁄Ã „Ò¥, ÃÙ
20 •Êº◊Ë __________ ◊¥ πÃ ∑§Ê≈¥ª–

(A) 8 ÁºŸÙ¥ (B) 7.5 ÁºŸÙ¥

(C) 6 ÁºŸÙ¥ (D) 7 ÁºŸÙ¥
        If 35 men reap a field in 4 days, then 20 men

will reap the field in __________.

(A) 8 days (B) 7.5 days

(C) 6 days (D) 7 days

84. 125% ¡’ •ŸÈ¬ÊÃ ◊ ¥ √ÿQ§ Á∑§ÿÊ ¡ÊÃÊ „ Ò ÃÙ
___________ „ÙÃÊ „Ò

(A) 4 : 5 (B) 3 : 5

(C) 5 : 4 (D) ßŸ◊¥ ‚ ∑§Ùß¸ Ÿ„Ë¥

        125% when expressed in ratio is __________.

(A) 4 : 5 (B) 3 : 5

(C) 5 : 4 (D) None of these

85. ÁºÑË ◊¥ ∞∑§ ’‹ŸÊ∑§Ê⁄ ‹Ù„ ∑‘  π¢÷ ∑§Ê ÉÊÈ◊ÊflºÊ⁄ ‚Ã„
ˇÊòÊ 264 ◊Ë≈⁄ 

2 „Ò •ÊÒ⁄ ß‚∑§Ê •ÊÿÃŸ 924 ◊Ë≈⁄ 
3 „Ò–

‹ı„ SÃ¢÷ ∑§Ë ™°§øÊß¸ Á∑§ÃŸË „Ò? π ∑§Ù 
22

7
 ◊ÊŸ¥–

(A) { ◊Ë≈⁄ (B) } ◊Ë≈⁄

(C) ~ ◊Ë≈⁄ (D) y ◊Ë≈⁄

The curved surface area of a cylindrical iron
pillar in Delhi is 264 meter2 and its volume is
924 meter3. What is the height of the iron

pillar ? Consider π as 
22

7
.

(A) 6 meter (B) 8 meter

(C) 9 meter (D) 4 meter

86. ∞∑§ ’˝Ë»§∑ §‚ ∑§Ù 10% ∑§Ë „ÊÁŸ ¬⁄ ’øŸ ∑ ‘
’¡Êÿ 10% ‹Ê÷ ¬⁄ ’øÊ ¡ÊÃÊ „Ò ÃÙ ∞∑§ •Êº◊Ë ∑§Ù
10  L§¬ÿ •Áœ∑§ Á◊‹Ã „Ò¥– ’˝Ë»§∑§‚ ∑§Ê ‹ÊªÃ ◊ÍÀÿ
___________ „Ò–

(A) 100 L§¬ÿ (B) 50 L§¬ÿ

(C) 60 L§¬ÿ (D) ßŸ◊¥ ‚ ∑§Ùß¸ Ÿ„Ë¥

A briefcase is sold at a gain of 10% instead of
being sold at a loss of 10% then a man gets
Rs 10 more. The cost price of the briefcase
is____________

(A) Rs 100 (B) Rs 50

(C) Rs 60 (D) None of these
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87. y •ˇÊ ∑‘ ‚◊ÊŸÊ¢Ã⁄ ⁄πÊ ∑§Ê ‚◊Ë∑§⁄áÊ __________ „Ò

(A) y=1 (B) x=2

(C) y=x (D) ßŸ◊¥ ‚ ∑§Ùß¸ Ÿ„Ë¥

Equation of line parallel to y axis is
__________

(A) y=1 (B) x=2

(C) y=x (D) None of these

88. 13 : 5 ∑§Ù ¬˝ÁÃ‡ÊÃ ◊¥ ’º‹Ÿ ¬⁄ ___________  „ÙÃÊ
„Ò

(A) 260% (B) 5%

(C) 13% (D) ßŸ◊¥ ‚ ∑§Ùß¸ Ÿ„Ë¥

     13 : 5 when converted to percentage is
___________.

(A) 260% (B) 5%

(C) 13% (D) None of these

89. ◊ÊŸ ‹¥ Á∑§ P •ÊÒ⁄ Q ºÙ ‚¢ÅÿÊ∞° „Ò¥ Á¡Ÿ∑§Ê ◊„ûÊ◊
‚◊Ê¬flÃ¸∑§ H „Ò ÃÙ ‹ÉÊÈûÊ◊ ‚◊Ê¬flÃ¸∑§ __________
„Ò–

(A) Ãÿ Ÿ„Ë¥ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ

(B) (P H)/Q

(C) P/(Q H)

(D) (P Q)/H

Let P and Q be two numbers whose highest
common factor is H then least common
multiple is __________

(A) cannot be determined

(B) (P H)/Q

(C) P/(Q H)

(D) (P Q)/H

90. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ë ∞∑§ ¬Á⁄◊ÿ ‚¢ÅÿÊ „Ò?
Which of the following is a rational number ?

(A)  3 (B)   21

(C)   289 (D) 0.010110001…

91. ∞∑§ ÉÊŸÊ÷ ∑§Ê •ÊÿÊ◊ 11 ‚◊Ë×10 ‚◊Ë×9 ‚◊Ë „Ò–
ß‚∑§Ê ∑È§‹ ‚Ã„ ˇÊòÊ»§‹ __________ „Ò
(A) 589 cm2 (B) 578 cm2

(C) 598 cm2 (D) ßŸ◊¥ ‚ ∑§Ùß¸ Ÿ„Ë¥
Dimension of a cuboid is 11 cm×10 cm×

9 cm. It’s total surface area is __________.

(A) 589 cm2 (B) 578 cm2

(C) 598 cm2 (D) None of these

92. ºÙ •¬Á⁄◊ÿ ‚¢ÅÿÊ•Ù¥ ∑§Ê ÿÙª __________ „Ò

(A) ∞∑§ ¬Á⁄◊ÿ ‚¢ÅÿÊ

(B) ∞∑§ •¬Á⁄◊ÿ ‚¢ÅÿÊ

(C) ∞∑§ flÊSÃÁfl∑§ ‚¢ÅÿÊ

(D) ∞∑§ ¬ÍáÊÊZ∑§

Sum of two irrational numbers is __________

(A)  a rational number

(B) an irrational number

(C)  a real number

(D) an integer

93. ∞∑§ ‹¢’ flÎûÊÊ∑§Ê⁄ ‡Ê¢Ä∑§Ê∑§Ê⁄ Ã¢’Í ∑§Ë ™°§øÊß¸ 15 •ÊÒ⁄
√ÿÊ‚ 16 „ Ò– Ã ¢’ Í  ∑§ Ê ¬ÊE ¸ ‚Ã„ ˇÊ  ò Ê»§‹
____________„Ò–

(A) 121 π (B) 136 π

(C) 169 π (D) 144 π

The height of a right circular conical tent is
15 and diameter is 16. The lateral surface area
of the tent is __________.

(A) 121 π (B) 136 π

(C) 169 π (D) 144 π
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94. 6.25% flÊÁ·¸∑§ ø∑˝§flÎÁh éÿÊ¡ ∑§Ë º⁄ ‚ x fl·ÙZ ◊¥ ∑È§‹
⁄ÊÁ‡Ê 4913 L§¬ÿ „ÙÃË „Ò, ¡Ù ____________ „Ò–

(A) 4196 L§¬ÿ (B) 4096 L§¬ÿ

(C) 4169 L§¬ÿ (D) ßŸ◊¥ ‚ ∑§Ùß¸ Ÿ„Ë¥
The sum that amounts to Rs 4913 in 3 years
at 6.25% per annum compounded annually,
is ____________.

(A)  Rs 4196 (B) Rs 4096

(C)  Rs 4169 (D) None of these

95. 2 ÉÊ¢≈ 15 Á◊Ÿ≈ ∑§Ë •flÁœ ∞∑§ ÁºŸ ∑§Ê Á∑§ÃŸÊ ¬˝ÁÃ‡ÊÃ
„Ò?
A period of 2 hours 15 minutes is what
percentage of a day ?

(A)  9.75 (B) 9.375

(C)    9.5 (D) 8.958

96. ∞∑§ ◊Á„‹Ê 150 L§¬ÿ ◊¥ ∞∑§ ‚Ê«∏Ë π⁄ËºÃË „Ò •ÊÒ⁄
•ÁÃÁ⁄Q§ πø¸ ∑§⁄ÃË „Ò ¡Ù ‹ÊªÃ ◊ÍÀÿ ∑§Ê 10% „Ò–
20% ‹Ê÷ ¬˝ÊåÃ ∑§⁄Ÿ ∑‘ Á‹∞ ©‚, ß‚ Á∑§‚ ◊ÍÀÿ ¬⁄
’øŸÊ „ÙªÊ?

(A) 196 L§¬ÿ (B) 186 L§¬ÿ

(C) 176 L§¬ÿ (D) ßŸ◊¥ ‚ ∑§Ùß¸ Ÿ„Ë¥
A woman buys a saree for Rs. 150 and makes
an overhead expense which are 10% of its
cost price. At what price she must sell it to
gain 20%?

(A) Rs 196 (B) Rs 186

(C) Rs 176 (D) None of these

97. •Á⁄¡ËÃ •ÊÒ⁄ •Á◊Ã ∑§Ë ∑§Êÿ¸ º⁄ 5 : 3 „Ò– ∑§Êÿ¸ ‚◊Ê#
∑§⁄Ÿ ◊¥ ©Ÿ∑‘ mÊ⁄Ê Á‹∞ ª∞ ÁºŸÙ¥ ∑§Ë ‚¢ÅÿÊ ∑§Ê •ŸÈ¬ÊÃ
___________ „Ò–
The rates of working of Arjit and Amit is
5 : 3. The number of days taken by them to
finish the work are in ratio ___________

(A) 3 : 5 (B) 1 : 5

(C) 4 : 1 (D) 3 : 1

98. ‚’‚ ‹¢’Ë ¿U«∏ ∑§Ë ‹¢’Êß¸ Á¡‚ 9 ‚◊Ë ÷È¡Ê flÊ‹ ÉÊŸ ◊¥
Á»§≈ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò ____________ „Ò–

(A) 18 (B) 9 3

(C) 9 2 (D) ßŸ◊¥ ‚ ∑§Ùß¸ Ÿ„Ë¥

The length of the longest rod that can be fitted
in a cube of side 9 cm is __________.

(A) 18 (B) 9 3

(C) 9 2 (D) None of these

99. •ÊlÊ Ÿ 75 L§¬ÿ ◊¥ ∞∑§ Áπ‹ıŸÊ π⁄ËºÊ •ÊÒ⁄ 111 L§¬ÿ
◊¥ ’øÊ– ©‚∑§Ê ‹Ê÷ ¬˝ÁÃ‡ÊÃ ___________ „Ò

(A) 48% (B) 25%

(C) 24% (D) ßŸ◊¥ ‚ ∑§Ùß¸ Ÿ„Ë¥

Aadyaa buys a toy for Rs 75 and sells for
Rs 111. Her gain percent is ______

(A) 48% (B) 25%

(C) 24% (D) None of these

100. fl„ ‚’‚ ’«∏Ë ‚¢ÅÿÊ Á¡‚‚ 325 •ÊÒ⁄ 467 ∑§Ù Áfl÷ÊÁ¡Ã
∑§⁄Ÿ ¬⁄ ∑˝§◊‡Ê— 5 •ÊÒ⁄ 7 ‡Ê· ’øÃ „Ò¥ __________
„Ò–

The largest number which divides 325 and
467 leaving remainders 5 and 7, respectively
is ___________

(A) 25 (B) 20

(C) 30 (D) 10

-   o O o -
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